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x—0, m,n=0 . o@:o(x’m)
o(x")*o(x")=0(x") X"
c-o(x")=0(x") 7. o(x"™)=0(x")
o(c-x")=0(x") 8. olo(x")]=0(x")
= o( %) 9. o(x")o(x™)=0(x""")
x"o(x™)=o(x"""™) 10. o(x"+o(x"))=0(x")
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ln(1+t):t—§+§—...+(—1)n1%+o(t”)
arcsin t=t+o(t*)= t+% £ +o(th= t+% £ +:—0 £ +o(th
arcsin t=t+o(t’)= t+1§-1§ t +%1€ £ 130 HIZ(HZ 2=l (ztj:ll)JF
arctgt=t+o()=t+o(t’)= t—§+§+ o(t°)
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chx .
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. ch*a—sh*a=1
. Sh(axp)=shachB+chxshp
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arcshx=In(x+Vx*+1) - IUIL apKCHHYC
arcchx=In(x+Vx*—1) - I'MIL apKKOCHHYC
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arcth x= > In( 1= X) - TUIL. aPKTaHIEHC
arccth x= 1 In (ﬂ) - TUI. aKKKOTaHT€HC
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[¥dx=%"1C (ar-1)
a+1
f%§=hﬂﬂ+C(X¢0)
[ a*dx= & (0<a#1)
Ina
[ e*dx=e*+C

[ sin xdx=—cos x+C

[ cos xdx=sinx+C
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f \/;%:arcsin?rc (Ixl<a)

f\/Xz——ln (x+Vx*+a°)+C (xeR)
+a
fm=1n|x+\/x2—a2|+c (x> a)

VI. a>0

f\/az—deX=§\/a2—X2+%2arcsin§+C (|x<a)
f\/X2+82dXZ%{\/X2+aZ+%21n(X+VX2+aZ)+C (x€R)
f\/XZ—ade:vaz—a ——1n\x+x/x2 al+C (|x>a)
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